
U3(8).2 (mod 7)

blocks defect matrix

G : 1 1 5× 2
2 1 5× 2
3 0 561 = χ2,0, ϕ2,0

4 = 3 0 562 = χ2,1, ϕ2,1

5 1 5× 2
6 0 1331 = χ5,0, ϕ5,0

7 0 1332 = χ5,1, ϕ5,1

8 0 2661 = χ6+, ϕ6+

9 0 3991 = χ8,0, ϕ8,0

10 0 3992 = χ8,1, ϕ8,1

11 0 3993 = χ9,0, ϕ9,0

12 0 3994 = χ9,1, ϕ9,1

13 0 3995 = χ10,0, ϕ10,0

14 0 3996 = χ10,1, ϕ10,1

15 0 11341 = χ23+, ϕ14+

16 0 11342 = χ25+, ϕ16+

blocks defect matrix

17 0 11343 = χ27+, ϕ18+

3.G : 18 1 5× 2
19 1 5× 2
20 1 5× 2
21 0 3781 = χ32+, ϕ23+

22 0 3782 = χ33+, ϕ24+

23 = 22 0 3783 = χ34+, ϕ25+

24 0 7981 = χ35+, ϕ26+

25 0 7982 = χ36+, ϕ27+

26 0 7983 = χ37+, ϕ28+

27 0 11344 = χ50+, ϕ32+

28 0 11345 = χ51+, ϕ33+

29 0 11346 = χ52+, ϕ34+

30 0 11347 = χ53+, ϕ35+

31 0 11348 = χ54+, ϕ36+

32 0 11349 = χ55+, ϕ37+

Block 1: ϕ1,0 ϕ13,0

11 = χ1,0 1 .
5121 = χ13,0 . 1
5131 = χ14,0 1 1
5133 = χ15,0 1 1
5135 = χ16,0 1 1

ϕ1,0 = 11
ϕ13,0 = 5121

Block 2: ϕ1,1 ϕ13,1

12 = χ1,1 1 .
5122 = χ13,1 . 1
5132 = χ14,1 1 1
5134 = χ15,1 1 1
5136 = χ16,1 1 1

ϕ1,1 = 12
ϕ13,1 = 5122



Block 5: ϕ3+ ϕ11+

1141 = χ3+ 1 .
9121 = χ11+ . 1

10261 = χ17+ 1 1
10262 = χ19+ 1 1
10263 = χ21+ 1 1

ϕ3+ = 1141
ϕ11+ = 9121

Block 18: ϕ20+ ϕ29+

1142 = χ29+ 1 .
9122 = χ38+ . 1

10264 = χ41+ 1 1
10267 = χ44+ 1 1
102610 = χ47+ 1 1

ϕ20+ = 1142
ϕ29+ = 9122

Block 19: ϕ21+ ϕ30+

1143 = χ30+ 1 .
9123 = χ39+ . 1

10265 = χ42+ 1 1
10268 = χ45+ 1 1
102611 = χ48+ 1 1

ϕ21+ = 1143
ϕ30+ = 9123

Block 20: ϕ22+ ϕ31+

1144 = χ31+ 1 .
9124 = χ40+ . 1

10266 = χ43+ 1 1
10269 = χ46+ 1 1
102612 = χ49+ 1 1

ϕ22+ = 1144
ϕ31+ = 9124


